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QUESTION 1

What is the formula for recall in a classification system?
A. False Positives / (True Negatives + False Negatives)
B. True Positives / (True Positives + True Negatives)
C. True Positives / (True Positives + False Positives)
D. True Positives / (True Positives + False Negatives)
Correct Answer: C

Reference: https://towardsdatascience.com/accuracy-precision-recall-or-f1-331fb37c5ch9

QUESTION 2

Which three file types can be ingested by the IBM Watson Discovery service?
A. JSON

B. PPT

C.DOC

D. XLS

E. CSV

F. PDF

Correct Answer:. ACF

QUESTION 3

Which two options can be detected by the IBM Watson Natural Language Understanding service- Entities API? (Choose
two.)

A. names of persons, places and organizations
B. a person\\'s gender based on their picture
C. relationships between entities

D. cities and geographic features

E. co-references between entities

Correct Answer: AC
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QUESTION 4

Which three Watson Al capabilities are applicable to analyze data insights on the text of a tweet on Twitter? (Choose
three.)

A. keyword extraction

B. natural scene text recognition
C. text-to-speech

D. entity extraction

E. text classification

F. speech recognition

Correct Answer: ADE

QUESTION 5

How can a developer prevent IBM Cloud from collecting data from API requests?

A. Pass a parameter called DisableTraining=False in the API request

B. Set a header parameter X-Watson-Learning-Opt-Out with the value true in the HTTP request
C. Set a header parameter called X-stop-training-watson to true in the HTTP request

D. Disable training from the IBM Cloud dashboard

Correct Answer: B

Reference: https://cloud.ibm.com/apidocs/discovery
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